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Topic 1, Volume A
 

QUESTION NO: 1 
 
How can IBM Notes email be surfaced in IBM Connections?
 
 
A. The Notes email connector must be installed. 
B. IBM iNotes can be presented in an Connections iFrame. 
C. Connections must be configured for Connections Mail. 
D. The Connections email forwarder must be enabled and configured. 
 

Answer: C

Explanation:  

 

 

 

QUESTION NO: 2 
 
What feature allows IBM Domino users to send secure 128-byte encrypted SMTP messages?
 
 
A. SPNEGO 
B. IP Version 6 
C. Banyan Vines protocol 
D. SMTP over SSL 
 

Answer: D

Explanation:  

 

 

 

QUESTION NO: 3 
 
Which server feature is responsible for name changes and database ACL updates?
 
 
A. Name Change Process 
B. Replication 
C. Extended ACL 
D. Administration Process 
 

Answer: D

Explanation:  
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QUESTION NO: 4 
 
Sarah has been asked to remove company data from a mobile device that's been lost. How can
she do this?
 
 
A. She would issue a remote wipe command for that device. 
B. She would need to call the mobile device carrier and have them clear the device. 
C. She would need to change the user's IBM Notes Traveler configuration to an empty mail file. 
D. She would issue a tell traveler clear device user command on the Traveler server. 
 

Answer: A

Explanation:  

 

 

 

QUESTION NO: 5 
 
What does Joe need to do to enable IBM Notes Traveler in his environment?
 
 
A. Joe's users need to be on IBM Notes 8.x or higher. 
B. At a minimum, Joe needs to ensure he has 100 MB free disk space and install HTTP/HTTPS. 
C. The IBM Domino server needs to be setup in a Web Configuration since Traveler does not
support Internet Sites. 
D. At a minimum, Joe needs to ensure he has 500 MB free disk space, 512 MB free RAM, and
HTTP/HTTPS service. 
 

Answer: D

Explanation:  

 

 

 

QUESTION NO: 6 
 
What are two proxy actions that operate on spoke servers? (Choose two.)
 
 
A. Rename in ACL. 
B. Delete in Reader/Author fields. 
C. Recertify person in Domino Directory. 
D. Rename Person in Free Time database. 
E. Approve rename server in Domino Directory. 
 

Answer: A,B

Explanation:  
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QUESTION NO: 7 
 
Sarah is a new administrator. What would Sarah need to create a new IBM Notes ID?
 
 
A. She needs Editor access to the IBM Domino Directory with the AddUser role. 
B. She needs the administrator password for the workstation where she is creating new Notes
ID's. 
C. She needs Domain access to the Domino Directory and UserCreator role in the Domino
Directory. 
D. She needs an Domino Administrator client, access to the certifier ID, the certifier ID password,
and UserCreator role in the Domino Directory. 
 

Answer: D

Explanation:  

 

 

 

QUESTION NO: 8 
 
What is DAOS designed to do?
 
 
A. to help users remember their password 
B. to eliminate the need to attach files to an email 
C. to prevent users from attaching files that are too large 
D. to save space at the file level by attachment consolidation 
 

Answer: D

Explanation:  

 

 

 

QUESTION NO: 9 
 
Sree's new statistics reporting agent exits early without error on the production server. It ran fine
when he tested it on his test server.  What could be wrong on the production system?
 
 
A. The disk is out of space and DAOS must be turned on. 
B. The server's cluster-mate crashed while the agent was running. 
C. Sree had an error in the agent, but never noticed it in his test system. 
D. The "Max LotusScript/Java execution time" field in the Server document is set incorrectly for
this complex agent. 
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